FASRSCRBF BRI H AT ERF AL

£ 55 %

110. 8. 10 5
B EPp i | ¥ PORTE W B
1 | #gexs | 1| 3 mw Bio R AR b R
(ehEh FRAC R dﬁ’
4000 ’b)
2. |MELFF || 1000 =~ B os PR R T B
GLF e B RELF ?l';’
2000 ’b)
3. | ¥ LS| = 1 1200 ~ Bizom 7k AT R
EL Ay (h Bk ERIC e A b
2400 ’b)
4. | dmpE | w8 | ] 2000 = Fhios B R R
(h kT Foo s EERL R A
4000 ’b)
5. |®Ezer | x| 1 300 = Bhi s R R h R
7 (Ph Rk %
600 m)
6. S A 1 500 ~ Bhzom R kAR R RS
7 (*hERT R #
1000 =)
7. | dEmAh s~ =& 1 1200 ~ Bhos R kA RE
kL FE (ehRR® A F(BEIRFAR 2 2)
2400 =)
Ay E | = 1 500 ~ i AR
B R p 1 350 ~ Bhzoe ff kAT 1R 8
(7h BT % 4
700 ~)
10. FHESF p 1 300 ~ ER F A o
11. el | x2 | | 2400 =~ Fhiom P R R RS
%
12. 8 AT & 1 210 ~ ER F A o
13. 3K R I ! 1 2000 ~ Bhizoe f7f Ry L8
%
14. dHFE (2] 1 2400 ~ Bhow PR kAR R
%
15. = % 1 1500 ~ Bhom 7F A T IR 8




%\'

16. B m |2 | 1 2400 ~ Bhow f kARl R
*
17. ERrE | X 1 1000 =~ % AR
18. & 4 1 10000 = i IR
19. et 5 1 6000 ~ i AR
20. | slg&a | 5| ] 2000 = | SEMERFERELE
B F LAy RS
21. BEFE | = 1 20000 ~ R P 2
(3 ¥z
2%)
22. # i 7 1 600 ~ Fhow R RASIC Y R
4
23. | FRAEE | 1 20000 ~ 91 # B % 5 = & itk
24. %R 2000 ~ i FRIRARE
25. M 3000 ~ i FRIRARE
26. =& i» 1 3000 ~ A 1
27. 3HER > | 100 1000 =~ A
28. | 2w & 1 5000 ~ R P A2
29. NER A 8000 ~ SHMERPER LS
B ERF LY R
30. tAE(s | B 1 6000 ~ 93 # B % 2 = ¢ ik
A~ Lt
#+)
3l | s | B 1 300 =~ R LS A2
32. | FAEET| B 1 40000 =~ 93 # B % 2 = ¢ shikik
(& ¥ 3%
)
33. i B 1 40000 ~ 901 £ R % 5 = § Hikak
M., | aF#*F | B 1 77000 ~ i FRIRAR
3. | ¥HyE | 2 | 1 80000 = 91 # & % 5 = & Hibk
(z2%)
36. | EwfreF| HF 1 20000 ~ 91 # B % 5 = & Hikik

(% 52
R RARITH
MimE e
~ P )




R LA

317. oy
=

%?‘i'ﬁfl
(R RRRA
¥ %R ok Ak
F i i fisko %Lj;;‘“"?%7,¢£”?&
R EFirey R ¥ kAR R "E RN

P T'%—?EIF:_}/ET5§,;#& '%Z\ \a;})\‘r‘?{i‘ \ﬁ'\%x%a—

= & Fr TR 1 W
¥ l’\?’%ﬂ?#é\




